April 17, 2016

Directions: Type your answer in the box.

v W pnner!

Based on the transitive property, complete this statement. Q > C

Q2b Lv2cd
If 2(y-3)>3x-4 and 3x-4>6-y, then 2(y-3)> ?_
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This system of linear equations is graphed
as shown,
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What is the solution to this system of equations?
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April 17, 2016

Renee is going bowling.

» The cost per game is $2.50,
+ Renee will need to rent a pair of bowling shoes for $1.50,
» She can spend up to $16,00 to bowl and rent a pair of shoes,

What is the maximum number of games that Renee can bowl?
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. Shede loelow  ean he pend enactly §247 Ve
s sl lne is Solid because # ean b e
Malik can spend no more than $24 to buy pecans and cashews. He will pay $6 per pound for
pecans and $8 per pound for cashews. Which graph best represents the number of pounds of

pecans and the number of pounds of cashews Malik can buy?
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April 17, 2016

Directions; Click on the grid to plot two points. The coordinates of the points must be integers,

Tecd e

Point A is an element of a direct variation, Plot two points, other than A, that are elements of
this direct variation, The coordmates of the pomts must be integers.
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Which graph has exactly one x=intercept and one )-intercept?
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April 17, 2016

Which equation best represents this data set?

((~4,-48), (3,82), (-2,79.0), (-1, -8.), (0,-47), (1,03)}
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A relationship between x and y is shown in this table.
)
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Which equation represents this relationship?
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April 17, 2016

Ms. Scott will pay $2,000 to have her house painted. The amount each painter earns, A, varies

inversely for the number of painters, 1, that will paint the house, Which equation best represents
this situation?
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The following graph shows a relation, Which of the following best describes the range of
this relation?
)f
9‘ A Al real numbers
! U B Al real numbers between =10 and 10
;  C Al real numbers less than or equal to =4
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April 17, 2016

Directions: Click and drag the answers to the correct boxes.

Each of these data sets has a mean of 20,

Set 1: {18, 19, 20, 21, 22}
Set2: {20, 20, 20, 20, 20}
Set 3: {16, 18, 20, 21, 25}

Order the sets from greatest standard deviation to least standard deviation.
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A study was conducted to determine the number of cars that passed through two intersections
each day for 20 days. The results are summarized in these box-and-whisker plots.

Study Result
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Which statement is best supported by these data?

. A The range of the data for Intersection 2 s twice the range of the data for Intersection 1,

-y

. B The lower quartile for Intersection 1 is greater than the lower quartle for Intersection 2,
. € The interquartle range for Intersection 1 is the same as the interquartle range for Intersection 2,

. D The total number of vehicles that passed through Intersection 2 is greater than the total number of
Vehicles that passed through Intersection 1,
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M e=

Which of these functions has exactly two different zeros?

\l:

JA flx)= %«T +4 \{l: Qrsiver’ Choices Lebotine
3x-10 ?:: how ey witog®
b wle== it e 2

UD A()=2+1lk 424

Flotl Flatz Flotz Flatl Flatz Flatz Flotl FlotZ Flots
RY1ECL180K+40 SBCIA-18043 H$1EK2—4X+4
-~ - — Y=

A v

Flotl Flotz Flots
“MiERE+HL 1 R+24

“Me=

A

¥

|

¥
Vi

350f 44




April 17, 2016

In which table does y vary directly with x ?
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M=
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Which equation could represent a graph with x-intercepts of (4,0) and (-7, 0)?
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Which number is a zero of the function / ?

h(x)=x*+3x-18
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